
' dlprigtr ue0oora:Soprsrb, gatdreoe

rlcDcu oa)rrny rlurb

qe$ufuifr groryr

@qailund ar6u gyenfir-nrb gloryrunenirs dlpuq& oorolunadft! Gpyol

2018 I 11 (Febft\ltarch 20 1 4)

GEOS 2204: gtorroerir-fr u6uunu:a1

Locational Analvsis

op;trrb , 3 nemflgii$u.rnarfiaefr

uq5dl l, u15dl l1 qbdlu-r StO uggaerfloi ts<D$gld Oencrlttg erSt60rrdradD6n Grpftq
Gteu-r5; orciln:nlora Fndirg (04) arSlorndis@r;g ollooL- p16a

atgrFq$Fneiraeir- ror-8ora .qrLLzudtdnn. sdrfiiundh (Calculator) ggdlu:eur zupnirauu$CI.

01.

urgpil I

grlelLoolh*Lb oafuupeorrob oqgpuugalgl urrgt?

Cteg6otc 41einnarlLb, Frfq €IeooorlLLb oeirucus6orgl
a- ginqomrr&a@L6dr erSlerd;go.

I.

II.

II I.

IV.

€IcnLoorS'llu uguunutaSleb eucr:oul@$pab
oq5 gu u@ eu gi$onor onryeurfl aeo6n @!t r_rLll @a.

zueorauu$gigerloir Gungt ocueurgi$ob 6lonoftan
6l unlq$pLoneor I gnqeowrdro@L 6iir al en66qyo.

(02 qeiraflaeir)

GeuEru$$$ebonrrg

(06 r lencrfloeir)

go6dlu-rtonem geirglnoti;

t 
(08 qenefioefr)

Goueufiqur efluu-rriloaoten

(09 qoftedieoeft)

02.
I. go11gtbgq gefigileoleor pryd;of$u-rno eueorauuggiglr-b Gungt

eueoruunr$ gleopoetr utneoel?
LliahuSpuugrb

(03 qenedloofr)

II.

III.

gr(g{i;@rg gahglootem ur96)unqgrnlg gcengruloir ola'laLtug$ryrb goonglulmour
olpnou6gnq5 0-5nqem$$oiir gleu6 0i16r{b50. 

(i0 qetrorfloeir)

6Cf Long9meir eupnirauu@rb rspquu$$eD ouguurr&apiideo:eot GLo$Goneirzu$eir

Slppdt euoryulgi$ein 6un1g$puunLq6D6n ea$ucoeurenry pqerloeoord Gonoorirs

uqgoangroef)€DfrL*no er5)uf1ti;6a. (12 qenerfloetr)



03. r5cnarigaueoreu$glei: A[anirrgs]dr$ 6lpflo16tru:gr etcu$dlpEl erjlc'n€boeb gidlul{o'',f

euprigo

I. euaoouug$gr65l6b GtzuoufreufluuLpdl6iiT gaei;du$guzuLb

II. rJryn$$uLouluu$$gieir

IIl. Glouuah, Gpnaiirorcl$ ggdGunflair eanoogiloneu unlgunL-rg$artrr sLL6D6lr
cri$oeit

(12.5x 2 :25 Lt6ir6rfo6fl)

ug$l ll

04" a-6Dd6il L$ryginan Botrnroafiail gr9$6lpno:al .9;lli5$l €[LL6I@)60'0I @oo : 0l e6n
gyuurgaftorgrt.

gqir-oromm Bal - 01 : p--odldr drypnen ipaqraroofleir 6qgi6lpnora gL_ipdl

Gr-nSdlGurn 4,7 50

2 p!onGLrnryd; 2,050

3 snGuJnGunG6Dn 9,000

4 16,700

5 6lro&dLiGsn 8,4frJ

6 @slT5[ 6,400

7 romofleun 10,550

8 (!DrDUrrur 29,650

I 6r ebnl 1 1,050

0 P5rypgil 10,500

i aonGcnneru 1 8,1 50

2 aebo$gn 23,900

J Gou-rGryn 9,400

4 6oonerilgqiroi:erir 2,7 50

5 r-.16x60016ru €}lurrGru 4,950

6 flGun4GlgooflGryn 6,850
1 6lonerbGon 4,940

8 rrdJgtrul 13,400

9 orynuS) rg90o
20 ufl6rD 3,550

21 @ad;pnenqeit 7,700

22 pnGonurr 3,150

23 dd)r'jr I 1,500

24 dlSerrGsn 1,500

z5 6D6WILtrI 5,100

t



Oppf oqaencn uuair@gip! r5ancu6Lb erilornebaqiebg crllonL-u-rofl cBgo.

I. e1o @ooL-6tarerfl (p6op (Equal Interval Method), eroriraeodlp goengl (Arithmetic

Proportion Method), gleupnofluqeiaofledr sLo oeurirouflBeos tt6np (Equal

Number of Observations) g}Jdlu 6q9uu$g!peb Sirudoeom uuenuS$$
g'[6q56o6'n orlquundatb G]ru-rcupsoneur cu6uunu56oLs6ocrt oeuoiurllGo.

(Cppeb SO gqguu@$peb guumoqqrd;gLb culquqBooflair oroudieoofldoo'roaolu-r

$qLoneiff uup$g r5airculSrl gpdtf pdleneo uuraiiu@ppeqb)

K:5logn (t0 Llcirorfls6tr)

II. GLogia"puurr geirGleln6 glr"-udomlanulri ggEuuoorulnad GlonofiG

erlguunu5imL-, 6urycq{i;gd, rfrsp5iir g6dlur6rfdl561em loirenr* ddlur

€[L L6u 6Do'roruJl eo'reur punfl cb go.

(15 qereifloeft)

05. l0 erLeuruuqqglocrfieb eunqgri A, B, C, D, E egdluL upeurerruleurdoorfleir uryLbueoeu

gtl-L6x6o6uur @eo:02 arr-@dleiirglgl.

€[ir-otormr Oa:42 : 10 oranuu6$oofleb our11gril upomulenniranfleir uryrbuetl

I. ooaeuryebo qetroioluqa5lu-rob 51L-u$Slootaot uueinu$$$ @eiioueoruuqS$oeol6.n $G
6qg6o6Trnm eueotouu$$gJdugpg glrguuenrutno& Glsneirm GeueofiLgu-r

ugrarauu5leo"r$61-* Gtpflq Glsura. (dt uu-rodru@$g Gerrarilgu-r W$6Vit' dGp

pquul@anmgl)

)X-= {ad-bc)'zN

{a+b}(a+c)(b+dXc+d)

Il. df $eornroodtL- up6o6u Smpatp gqqltueorulto&

6O OtgrBo6rir6 6rr6otblru$Sdl6 anl$o,

III. rjf $g6b gytguueoru5ler:neur euooauunr--gplg $rbqqoorgluierh Glunt5$puunLq6l)@r

aqtrcborono gSluLl$a. (03 qoirofiacr)

(20 qeftof1aeft)

6anoorir$ zuouuuqqglooo"l6fi

(02 qeirafioeft)

'1ff Hr-'t ,,$
1 1 0 0 TO 1

2 I 7 1 L, 0

3 0 1 7 0: 1

4 0 1 0 0 1

5 i. 1 0 0 t
6 1 0 0 1 1
.I

0 0 1 1= 0

8 L 1 1 1 0

9 1 0 0 0 0

10 0 I 1 1 1



06. €IrL-ei:al60or g6u :'03 €[eugt 16 gXaupnafluq $)eoreuu-rr,raofleb $6$5 6]upulrr toeodt

Lon$flaarfloi: glurnrdqenen flt6iirEt greueir.guooieir erildgn+nTdaooren6 onu$daitptg't.

€[LLomDdFr CIor- 03 : 16 gpugnclfluq Slom:u.rpirsofleir tstOtbOt 6]uptuut-L-

rocnfiron$fioofle$ en--nndlqefreu gpa:tba'Euaofleir olpruryb

E5ptrorlaoronu uu-reiiru$$$ Lloneulgrb crlleorn6oqgreblq arlau:rurofleb1qen.

I. dGp anr,uuul$cften toffdrfl gnebGaneuur ororryuL-gigi"6oeor gqgluarru-rnaeb

Glanaudi$ grcbGoneour eireurryulr-b gaii$eoeor purrflpsl ueofi ron$flaerftair
gleod;n'guaofleir plouroouileu:or el$eb rOdfSgrti onr--r$o.

g:ri;Ganmr arortuL$pilair Dnpilfi t

moi (A)

Loorhrq (c)
(12 qetreilaeir)

II. romiir r.on$floerflob gir-nrdlu-leiren gleo6m'Eesorflair Soteuulaii glrguuooruuleit

ggerBnafluq pleoreuurrniaeoen G'run6gigrorem goeulgluloi: errooioriuS$$d;

arl-$ergrlair p-DA GDr96455D6n Gprq5uq €)lt*Lol6D)60u{6uinafigtob gqDo.

(13 qoirerflseir)

,e{.st;

40 09 5l 00

2 25 2A 55 00

3 25 l5 60 00

4 l0 l5 75 00

5 t2 08 80 00

6 42 06 52 00

'1 A< l5 40 00

8 60 t<
LJ 25 00

9 70 20 t0 00

0 50 30 20 00

49 AA 09 r00

2 40 45 t5 t00

3 36 34 30 00

4 35 55 10 00

5 25 60 .15 00

6 30 60 l0 00


